Academic Students	Addition Higher Educatio and No Employe	on t	Employed No Additional Higher Education		Additional Higher Education and Employed		Employed and/or Additional Higher Education		Students Not Found		Total Former Students	
09010100 - Speech Communication and Rhetoric												
Graduate	1 1	00.0%	0	0.0%	0	0.0%	1	100.0%	0	0.0%	1	
Total	1 1	00.0%	0	0.0%	0	0.0%	1	100.0%	0	0.0%	1	
11010100 - Computer and		s, General										
Graduate	0	0.0%	1	33.3%	2	66.7%	3	100.0%	0	0.0%	3	
Non-returner		38.1%	6	28.6%	3	14.3%	17	81.0%	4	19.0%	21	
Total	8	33.3%	7	29.2%	5	20.8%	20	83.3%	4	16.7%	24	
13120600 - Teacher Educa												
Graduate		12.5%	5	31.2%	8	50.0%	15	93.8%	1	6.2%	16	
Non-returner	6	8.8%	31	45.6%	14	20.6%	51	75.0%	17	25.0%	68	
Total	8	9.5%	36	42.9%	22	26.2%	66	78.6%	18	21.4%	84	
23130400 - Rhetoric and C												
Non-returner		13.3%	3	20.0%	4	26.7%	9	60.0%	6	40.0%	15	
Total	2	13.3%	3	20.0%	4	26.7%	9	60.0%	6	40.0%	15	
24010100 - Liberal Arts and Sciences/Liberal Studies												
Completer	5	41.7%	2	16.7%	5	41.7%	12	100.0%	0	0.0%	12	
Non-returner	17	16.5%	44	42.7%	19	18.4%	80	77.7%	23	22.3%	103	
Total	22	19.1%	46	40.0%	24	20.9%	92	80.0%	23	20.0%	115	
24010200 - General Studie	s											
Graduate	13	20.6%	17	27.0%	20	31.7%	50	79.4%	13	20.6%	63	
Total	13	20.6%	17	27.0%	20	31.7%	50	79.4%	13	20.6%	63	
24999999 - Undeclared Ma	ijor											
Non-returner	7	38.9%	1	5.6%	6	33.3%	14	77.8%	4	22.2%	18	
Total	7	38.9%	1	5.6%	6	33.3%	14	77.8%	4	22.2%	18	
26010100 - Biology/Biolog	ical Sciences	s, Gener	al									
Graduate	3	60.0%	1	20.0%	1	20.0%	5	100.0%	0	0.0%	5	
Non-returner	12	17.6%	24	35.3%	16	23.5%	52	76.5%	16	23.5%	68	
Total	15	20.5%	25	34.2%	17	23.3%	57	78.1%	16	21.9%	73	
43010400 - Criminal Justic	e/Safety Stud	dies										
Graduate	0	0.0%	5	45.5%	3	27.3%	8	72.7%	3	27.3%	11	
Non-returner	1	4.5%	12	54.5%	3	13.6%	16	72.7%	6	27.3%	22	
Total	1	3.0%	17	51.5%	6	18.2%	24	72.7%	9	27.3%	33	
45110100 - Sociology, Ger	neral											
Graduate	0	0.0%	2	22.2%	7	77.8%	9	100.0%	0	0.0%	9	
Non-returner	2	7.4%	10	37.0%	4	14.8%	16	59.3%	11	40.7%	27	
Total	2	5.6%	12	33.3%	11	30.6%	25	69.4%	11	30.6%	36	

Academic Students	Additional Higher Education and Not Employed		Employed No Additional Higher Education		Additional Higher Education and Employed		Employed and/or Additional Higher Education		Students Not Found		Total Former Students
52010100 - Business/Com	merce, Ger	neral									
Graduate	6	15.4%	17	43.6%	13	33.3%	36	92.3%	3	7.7%	39
Non-returner	24	19.4%	52	41.9%	25	20.2%	101	81.5%	23	18.5%	124
Total	30	18.4%	69	42.3%	38	23.3%	137	84.0%	26	16.0%	163
99999999 - Undeclared Ma	jor										
Undeclared	7	7.9%	48	53.9%	2	2.2%	57	64.0%	32	36.0%	89
Total	7	7.9%	48	53.9%	2	2.2%	57	64.0%	32	36.0%	89

Technical Students	Additional Higher Education and Not Employed	N Addi Hig	Employed No Additional Higher Education		Additional Higher Education and Employed		Employed and/or Additional Higher Education		Students Not Found				
11010100 - Computer and Information Sciences, General													
Graduate	3 75.		0.0%	1	25.0%	4	100.0%	0	0.0%	4			
Non-returner	1 100.	0% 0	0.0%	0	0.0%	1	100.0%	0	0.0%	1			
Total	4 80.	0% 0	0.0%	1	20.0%	5	100.0%	0	0.0%	5			
15040400 - Instrumentatio	n Technology/Te	echnician											
Graduate	1 6.	7% 7	46.7%	2	13.3%	10	66.7%	5	33.3%	15			
Non-returner	0 0.	0% 9	69.2%	3	23.1%	12	92.3%	1	7.7%	13			
Total	1 3.	6% 16	57.1%	5	17.9%	22	78.6%	6	21.4%	28			
24010200 - General Studies													
Non-returner	104 25.	7% 97	24.0%	104	25.7%	305	75.5%	99	24.5%	404			
Total	104 25.	7% 97	24.0%	104	25.7%	305	75.5%	99	24.5%	404			
41030100 - Chemical Technology/Technician													
Graduate	0 0.	0% 2	100.0%	0	0.0%	2	100.0%	0	0.0%	2			
Non-returner	0 0.	0% 4	80.0%	1	20.0%	5	100.0%	0	0.0%	5			
Total	0 0.	0% 6	85.7%	1	14.3%	7	100.0%	0	0.0%	7			
48050800 - Welding Technology/Welder													
Graduate	0 0.	0% 5	71.4%	1	14.3%	6	85.7%	1	14.3%	7			
Non-returner	0 0.	0% 2	100.0%	0	0.0%	2	100.0%	0	0.0%	2			
Total	0 0.	0% 7	77.8%	1	11.1%	8	88.9%	1	11.1%	9			
49030900 - Marine Science	e/Merchant Marii	ne Officer											
Graduate	2 40.	0% 1	20.0%	2	40.0%	5	100.0%	0	0.0%	5			
Non-returner	2 25.	0% 3	37.5%	0	0.0%	5	62.5%	3	37.5%	8			
Total	4 30.	8% 4	30.8%	2	15.4%	10	76.9%	3	23.1%	13			
51060100 - Dental Assistin	ng/Assistant												
Graduate	0 0.	0% 17	81.0%	3	14.3%	20	95.2%	1	4.8%	21			
Non-returner	2 16.		50.0%	2	16.7%	10	83.3%	2	16.7%	12			
Total	2 6.	1% 23	69.7%	5	15.2%	30	90.9%	3	9.1%	33			
51080500 - Pharmacy Tech	hnician/Assistan	t											
Graduate	5 29.	4% 1	5.9%	9	52.9%	15	88.2%	2	11.8%	17			
Non-returner	1 10.	0% 4	40.0%	2	20.0%	7	70.0%	3	30.0%	10			
Total	6 22.	2% 5	18.5%	11	40.7%	22	81.5%	5	18.5%	27			
51090400 - Emergency Me	dical Technolog	y/Technician	(EMT Para	amedic)									
Non-returner	3 37.	5% 3	37.5%	2	25.0%	8	100.0%	0	0.0%	8			
Total	3 37.	5% 3	37.5%	2	25.0%	8	100.0%	0	0.0%	8			
51100900 - Phlebotomy Te	echnician/Phlebo	otomist											
Non-returner	4 26.	7% 4	26.7%	6	40.0%	14	93.3%	1	6.7%	15			
Total	4 26.	7% 4	26.7%	6	40.0%	14	93.3%	1	6.7%	15			

Technical Students	Additional Higher Education and Not Employed		Employed No Additional Higher Education		Additional Higher Education and Employed		Employed and/or Additional Higher Education		Students Not Found		Total Former Students		
51380100 - Registered Nursing/Registered Nurse													
Non-returner	1	0.7%	78	56.9%	9	6.6%	88	64.2%	49	35.8%	137		
Total	1	0.7%	78	56.9%	9	6.6%	88	64.2%	49	35.8%	137		
51390100 - Licensed Pract	ical/Vocatio	onal Nurse	e Training										
Graduate	6	6.6%	42	46.2%	27	29.7%	75	82.4%	16	17.6%	91		
Non-returner	7	4.3%	91	55.5%	18	11.0%	116	70.7%	48	29.3%	164		
Total	13	5.1%	133	52.2%	45	17.6%	191	74.9%	64	25.1%	255		
52020700 - Customer Serv	rice Manage	ment											
Non-returner	0	0.0%	0	0.0%	0	0.0%	0	0.0%	1	100.0%	1		
Total	0	0.0%	0	0.0%	0	0.0%	0	0.0%	1	100.0%	1		

Tech-Prep Students	Addition High Educa and N Emplo	er tion Not	Employed No Additional Higher Education		Additional Higher Education and Employed		Employed and/or Additional Higher Education		Students Not Found		Total Former Students
11010100 - Computer and	Information	n Science	es, Genera	I							
Graduate	1	14.3%	4	57.1%	2	28.6%	7	100.0%	0	0.0%	7
Non-returner	1	16.7%	5	83.3%	0	0.0%	6	100.0%	0	0.0%	6
Total	2	15.4%	9	69.2%	2	15.4%	13	100.0%	0	0.0%	13
41030100 - Chemical Tech	nology/Tec	hnician									
Graduate	3	7.1%	26	61.9%	2	4.8%	31	73.8%	11	26.2%	42
Non-returner	5	11.1%	23	51.1%	3	6.7%	31	68.9%	14	31.1%	45
Total	8	9.2%	49	56.3%	5	5.7%	62	71.3%	25	28.7%	87
43010200 - Corrections											
Non-returner	1	16.7%	2	33.3%	1	16.7%	4	66.7%	2	33.3%	6
Total	1	16.7%	2	33.3%	1	16.7%	4	66.7%	2	33.3%	6
51380100 - Registered Nui	rsing/Regis	tered Nu	rse								
Graduate	0	0.0%	22	71.0%	1	3.2%	23	74.2%	8	25.8%	31
Non-returner	0	0.0%	11	64.7%	0	0.0%	11	64.7%	6	35.3%	17
Total	0	0.0%	33	68.8%	1	2.1%	34	70.8%	14	29.2%	48
52020100 - Business Adm	inistration a	and Mana	agement, G	Seneral							
Graduate	0	0.0%	5	50.0%	4	40.0%	9	90.0%	1	10.0%	10
Non-returner	2	9.1%	13	59.1%	1	4.5%	16	72.7%	6	27.3%	22
Total	2	6.2%	18	56.2%	5	15.6%	25	78.1%	7	21.9%	32

Continuing Ed Students	Addition Highe Educati and No Employ	r on ot	Employed No Additional Higher Education		Additional Higher Education and Employed		Employed and/or Additional Higher Education		Students Not Found		Total Former Students
22030300 - Court Reporting	g and Captio	•	•								
Graduate	0	0.0%	5	55.6%	1	11.1%	6	66.7%	3	33.3%	9
Total	0	0.0%	5	55.6%	1	11.1%	6	66.7%	3	33.3%	9

Summary Page	Additi High Educa and I Emplo	ner ntion Not	Employed No Additional Higher Education		Additional Higher Education and Employed		Employed and/or Additional Higher Education		Students Not Found		Total Former Students
Total Academic Students											
Graduate	25	17.0%	48	32.7%	54	36.7%	127	86.4%	20	13.6%	147
Completer	5	41.7%	2	16.7%	5	41.7%	12	100.0%	0	0.0%	12
Non-returner	79	17.0%	183	39.3%	94	20.2%	356	76.4%	110	23.6%	466
Undeclared	7	7.9%	48	53.9%	2	2.2%	57	64.0%	32	36.0%	89
Total	116	16.2%	281	39.4%	155	21.7%	552	77.3%	162	22.7%	714
Total Technical Students											
Graduate	17	10.5%	75	46.3%	45	27.8%	137	84.6%	25	15.4%	162
Non-returner	125	16.0%	301	38.6%	147	18.8%	573	73.5%	207	26.5%	780
Total	142	15.1%	376	39.9%	192	20.4%	710	75.4%	232	24.6%	942
Total Tech-Prep Students											
Graduate	4	4.4%	57	63.3%	9	10.0%	70	77.8%	20	22.2%	90
Non-returner	9	9.4%	54	56.2%	5	5.2%	68	70.8%	28	29.2%	96
Total	13	7.0%	111	59.7%	14	7.5%	138	74.2%	48	25.8%	186
Total Technical/Tech-Prep	Students										
Graduate	21	8.3%	132	52.4%	54	21.4%	207	82.1%	45	17.9%	252
Non-returner	134	15.3%	355	40.5%	152	17.4%	641	73.2%	235	26.8%	876
Total	155	13.7%	487	43.2%	206	18.3%	848	75.2%	280	24.8%	1,128
Total Continuing Ed Stude	ents										
Graduate	0	0.0%	5	55.6%	1	11.1%	6	66.7%	3	33.3%	9
Total	0	0.0%	5	55.6%	1	11.1%	6	66.7%	3	33.3%	9
Grand Total											
Graduate	46	11.3%	185	45.3%	109	26.7%	340	83.3%	68	16.7%	408
Completer	5	41.7%	2	16.7%	5	41.7%	12	100.0%	0	0.0%	12
Non-returner	213	15.9%	538	40.1%	246	18.3%	997	74.3%	345	25.7%	1,342
Undeclared	7	7.9%	48	53.9%	2	2.2%	57	64.0%	32	36.0%	89
Total	271	14.6%	773	41.8%	362	19.6%	1,406	76.0%	445	24.0%	1,851